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1. Write yog;RglI_qI_\_Igf on the top immediately on receipt of this question paper.

2. Attempt any four questions. o ' l !

4. Answers may be Wntten either in Enghsh or Hmd1 but the same medium should -
be used throughout the paper
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1. What is political theory ? Differentiate between empirical and normative
approaches to political theory.
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2.

Examine the relationship between power and politics. Do you think, approaches .
to studymg power help us in understandmg pohtlcs ? Give reasons.
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Examine some of the core prmclples of hheraltsm
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Evaluate foundational principles of Marxism.
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Examine various streams of femmlsm Do you think they sufﬁc1ently address the
question of women’s equality ?
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- Write a brief essay on the hlstory of democrécy.

@ma%gﬁzmwwﬂﬁﬁrﬁw%ﬁwl :

What is dehberatlve democracy ? Do you thmk it ennches procedura] democracy ?
Give arguments. A
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Write short notes on any two of_thé following :
Preforfer ¥ ¥ el @ G Roh iy :
(a) Postmodernism

IR - eI
(b) Conservative tradition of political theory
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(c) Anarchism

SUNESICICE
(d) Idea of the political
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Instructions for Candidates .

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written cither in English or Hindi; but the same medium should
be used throughout the paper.
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L. Elucidate and discuss the features of the Indian Constitution. To what extent doss
' the Preamble reflect these features ?
2. Do you agree that the Directive Principles of State Pokicy complements the

Fundamental Rights ? Give reasons for your answer.
: PT.O.

T Y- TF IR A A B 6l v m#ﬁﬁq ﬁﬁ?wﬁwww ,

1756 2

mmm%%m%%ﬁ&maﬁﬁmaﬁmﬂﬁwﬁ?mw%
T F @ it

3. Examine how has the changing nature of representation affected the functioning
of the Indian Parliament.
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4. The Indian Prime Minister was never *first among equals’. Do you agree ? Give
reasons for your answer.
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5. How is the Supreme Court of India constituted ? Critically examine its role in
protecting the basic structure of the Indian Constitution.
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6. Critically examine the basic features of strong-Centre federalism in India.

WRA ¥ T - D W @ ghEd feaivanal &1 el g i |

7. Discuss the growth and development of Panchayati Raj Institutions in India.
Wﬁﬁﬂmmﬁ%m@mﬁﬁmw:
8. Write short notes on any two of the following :
Frfeifiam ¥ 3 fedl @t w aftr oot frfre
(a) Emergency Provisions
SIFTHTEAT AT
(b) Judicial Review
e aten
(c) Fifth and Sixth Schedule
TR TE B S
(d) Women’s representation in local government
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Note : — Answers may be written either in English or in Hindi; but the same medium should

) be used throughout the paper.
froqoft :— 39 yw-w W SW st W G e T won A A Ty o Sed
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Attempt All questions. .
Show your working notes clearly.
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1. State with reasons -whether the fol[owing statements are i"rue pr‘ False .:
(@) Legal fees.paid to acquire a property is capital expenditure.

(b) Advance received ‘from a supplier is not taken as income or sales.

P.T.O.

(2 3 e | 18
(¢) Calibre or quality of management team is. not directly disclosed in the balan

sheet.

(d) Deferred revenue expenditure is current year’s. revenue expenditure to be paid in

years,

(e) Depreciation is decrease in the market value of a fixed assets,

W.ﬂﬁamﬁﬁﬁmm'aﬁ%www :
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From the foI'lowing particulars, prepare the ‘Tlading and Proﬁf & Loss Account for the yei

ended 31st December, 2014 and the Balance Sheet as on that date :

. -Particulars ‘ ? Particulars - T

Building 5,00,000 | Loans (1-1-2014) 3,06,000,

Machinery © | 220000 | Capia - 5.20,000
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Fumniture 1,00000 | Creditors 4,00,000
Bank 90,000 | Purchase Returns 1,00,000
Cash 10,000 | Sales 32,20,060
Debt0r$ 5,00,000 ‘ Provident Fund Deducted
Opening Stock 1,20,000 from. Salaries 10,000
Purchases 25,00,000 |
Sales Return 1,20,000

_ cht‘ 60,000

' Establishment 1,60,000
Interest (10%) 20,000
Electricity 10,000
Phone 10,000

- Commission 60,d00 |

: Insurance Premium 10,000
Bad debs 20,000
Bills Receivable 40,000

| 45,50,000 45,50,000

P.TO.

(4) _ 181

Adjustments :

Provide depreciation on Building @ 5%, Machinery @ 15% and Furniture @ 10%
Stock was not taken on 31st December, 2014 but only on 7/1/2015. The transactions from
1/1/2015 to 7/1/2015 are : Sales ¥ 2,50,000, Purchase ¥ 1,50,000. Stock on 7/1/2015

¥ 1,80,000 and rate of Gross Profit being 20%. During the year machinery of the value of

|

T 1,00,000 was destroyed by the fire and the insurance claim was settled at ¥ 80,000 and
credited to Machinery A/C. Also provide Employer’s share of P.F. ¥ 10,000, Provision for
Ba& debts 5%, Commissi.on of the Manager @ 10% on net profit after providing such
commission. : ' _ - 10
seifefe =R & 31 fKawr, 2014 F1 w9 56 F fofg =R 9o v-wT @
Fifag qa 3@ fafy N goE-v o SR -

faazor T | feawor z
CCE] 500,000 | EW (1-1-2014) 3,00,000£
ENIE 2,20,000 it ‘ 5,20,000
TR 1,00,000 | TFRR 4,00,000
LD 90,000 | A aTYE 1,00,000
TR ‘ 1o,boo EERS 32,20,000
¥R 500,000 | ¥ ¥ WA @ wiesg fR| 10,000
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| IRfew =TH 1,20,000
ER ' 25,00,000
fersrar Aot 1,20,000
| [ExEis 60,000
O =Y 1,60,000
N (10%) 20,000
forstett : 10,000
uﬁ-—r: - 10,000
e ' ' 60,000
ST i 10,000
Lo 20,000
o fae ' 40,000

| 45,50,000 45,50,000

U

W W 5%, FRAA T 15% T Ff= W 10% h R A GoTa® @ | Wik FI ITH
31 fewrar, 2014 | FE R s we sifrg 712015 @ R W 112015 @
7120153 W B oA ¥ ; fd 2 2,50,000, %4 ¥ 1,50,000, 7/1/2015 ! Wi
¥ 1,80,000 T FHA TY KT T 20% | o B WA 2 1,00,000 T FY 7 07 @

PT.O.
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e ST R

prepare Income and Expeﬁdit\;re Account for the year ended 31st March, 2015 and a Balance

Sheet as on that date : -

(

6

)

Or

G

Receigts T Payments .
To Balance b/d : By Purchase of Balls 65,000
Cash 10,200 By Tournament Fees 10 0‘.
Bank 30,000 By Affiliation Fee for five ym . 2,000
To Subscriptions 2,45,000 . By Rent of I"]aygroun’d _ 6,000
To Interest ‘c_m Investment 1,800 .By Travelling Expenses 20 000‘
To Sale of ticket for V&riety . By Expéhses of Variety
Programme | 20,000 Programme 15,000
To Sale of furniture By Reﬁ'eshrﬂent Expenses ' 4,009
(30-09-2014) 9,000 By Fumitut:e bought on |
" To Donation for Building 50,000 - (1-10-2014) 5,000
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~ To Legacy 11,000 By Advance to Building Contractor 50,000
By Repairs T 5000
By Salary 15,000
By Telephone bill " 1,500
By Miscellaneous Exps , 8,000‘

By 12% Investments
(F.V. ¥ 1,70,000) 1-1-2015  1,50,000

By Balance :-

Cash . 8,560
Bank : 12,000
3,77,000 3,77,000

Additional Information :

(@)

()

Miscellaneous expenses include ¥ 3,000 for the honorarium.

Subscriptions received include ¥ 9,000 outstanding subscription for the year 2013-14.

.Subscription for the year 2014-15 amounting to ¥ 16,000 is still outstanding. Some

members have paid subscription for the 2015-16 amounting to ¥ 8,000 which is included

in the subscription received.

PLO:

(©)

(d)

(e)

‘(g)

(h)

WWW%WWW'WWGW&WW@-%WW

‘Face value of 12% investment on 31st March 2014 was ¥ Is',DOO (COSt

* p-a. Provide depreciation on new furniture at the same rate.

charge for each quarter is same both for 2013-14 and 2014-15.

T 12,000).

Book value of the furniture sold on 1-4-2014 was ¥ 12,000 depreciation being 20%
Telephone bill for one quarter is outstanding, the amount outstanding being ¥ 300.

Unpresented cheques for repairs to building being ¥ 4,000 fbr 2013-14 and ¥ 12,.0
for 2014.-15. '

Bank balance rcpresents ‘Balance as per Bank Pass Book’.

Stock of balls with the club on 31st March, 2015 amounted to 26 ,000. 10

31 94, 201saﬁwwaﬁ%ﬁrqmmmmﬁmaﬁﬁmammﬁwaﬂj

g’&ﬁ—‘ﬁ %ﬁ T«nsft | |

99 e T T e 65,600.;
T io,zoov e W e 10,000

ﬁm 30,000 e = & fau weg@ yew 2;000

wHE w1 EH 2,45000 ©A WA H ﬁmrm 6,000
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i ﬁz = 1800 uﬁnam 20,000
faf w91 o frat 20000 FE W 15,000
i 7 e @ g = 4000
(30-09:2014) .‘ 9,000 = WA F (1-10-2014) B slboo'j
W H R 50000 Wﬁmeqﬁmgrmm
Fﬁmﬁ '\Er-mfferq’i’ 111,000 IR =l e 50,000
| e R 5,006_
EGE| 15,000
| defter foet 1,500
fafae == 8,000
12% fraw (wfosa oo
2 1,70,000) 1-1-.-2015 1,50,600 "
. Y AW W W T
U l . 8,500
EED 12,000
3,77,000 ©3,77,000
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31 =, 2015@%%%3@%@%3@ % 6,000 1)

Distinguish between Periodic Inventory System and Perpetual Inventory System.  3f

The following are the details of a spare part of Golden Mills :
1-1-2015 -~ Opening Stock Nil

1-1-2015 Purchases ~ 200 units @ ¥ 30 per unit

R (L—




15-1-2015

1-2:2015 .

15-2-2015 -

20-2-2015

1-3-2015

15-3-2015

()

Issued for consumptions
Purchases

TIssued for gonémnpﬁons

Issued for consumptions

Purchasés

Issued for consumptions

" 1861

' 100 s
400 ux-lits' @ T 40 per unit
* i
. 200 units

300 units @ ¥ 50 per unit

100 units

Find out valte of stock as on 31-3-2015 if the company follows :

() FIFO

(i) Weighted Avefage Method

(@)

®

under Perpetual Inventory System.

1-1-2015

1-1-2015

. 15912015«

122015
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15-2-2015 - T % faw e 200 378
20-2-2(;15 : vaqa % fem éoo EEOH
1-3-2015 . w4 H T ﬁoosané@?sowﬁrm
15:3-2015 . - wTa % fou S 100 337

mqsé——a’rnzﬁrm 31-320153%%@&@%%?%%
(O W S o S (FIFO)HﬂEﬂ IR ¥ e

(i) wRA S (Weighted A\{erage) 1 AT TR T

Or
(zreran)
(@ On Ist Jamiary 2010, Riddhi purchased machine ‘A’ for ¥ 30,000 and machine ‘B'
for T 20,000. On Ist January 2011, she pur.chased a machine ‘C’ for T 50,000.
On Ist January 2012, machine A got out of order and a new machme was
purchased costing ¥ 60,000. after suxrendenng the old one and paying cash T 45,000.
On Ist January 2013, machine ‘C* purchased on 1st January* 2011, was destroyed

by fire and msuxancc'company paid ¥ 30,000 only. Show the Machine account for

2010, 2011, 2012 and 2013. Charge depreciation @ 10% p.a. on the W.D.V.

‘ method.
' 7
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(b)) What do yoﬁ understand by convergenceé of IFRS ? Is there any need for such

convergence ? : : ' : 3

(&) 1 SFed, 2010 % fifg 3 2 30,600’1’# e ‘T ger € 20,000 F weie ‘st @ﬂé’n '

| SRR, 2011 F IE 2 50,000 F TR w1 AL, 2012 H WA

o T R 760,000 T T T W wE o fere g
& WY T 45,000 T YT fFA @ 1 S, 2013 B, 1 T, 2011 B @D

T i i o e R @ o fere SR R X W 2 30,000
f1 2010, 2011, 2012 Ten 2013 % Y WA @A SN | T TR G W
 10% I X J goumE IR |

(b) m@aﬁ?ﬁaﬁcﬁnm(mm)%aﬁwﬁmwaﬁm% ? F
™ UER & aﬁmmﬁaﬂﬁ amwm% ?

Aaryan Motor Ltd. purchased three trucks costing ¥ 2,00,009 c;ach from Dev» Auto Ltd.
on lst January, 2012 on hire-purchase system. The terms were : payment on delivery
T 50,000 for each truck and balance of the principal ambunt by 3 equai instalments plus
interest at 15% p.a. to.be paid -at the end of each year. Aaryan Motor Ltd. writes off
25% depreciation yearly on the diminishing balance rmethod. Aaryan Motor Ltd. paid the
instalment due on 31st December, 2012 and 31st December 2013 but could not pay the

final instalment.

P.T.O.

" repossessed Alc in Dev Auto Ltd. showing the above transactions upto 1-1-2015:

.01 ﬁaﬁ'zou..’aﬂ T AR fA 7 T 2,00,000 gaa"% ﬁma q, W 3

VWMWgﬁmw,WWWM%Wa%mﬂml
- 20153%%3&1?3%! %;ﬁaﬁmﬁﬁmhmﬂﬁ %ﬁﬁ;ﬁaﬁ

a e SwE mﬂ-ﬂq—%a 1-1-2015 TF e |

(14 )_-'

Dev Auto Ltd. mpossessed two tmcks adjustmg their values agamst the amomt due
rcpossessmu was done on Ist Ianua:y 2015 on the basis of 40% p,a. deprecianon on nf
dirniishing belanoe method. Dev Auto L. s ‘spent ¥ 13,600 on thexepalrdftwo trucks
sold of them for ¥ 63 ooo |

' Write up' the ledger accounts in the books of Aaryan Motor Ltd. and also prepare Go "

ﬁﬁﬁwgmﬁmm—mwﬁrﬁmﬁmvﬁmmﬁuﬁeﬁaﬁ
?somomwwmmw%mmwmwmﬁﬁ
alﬁ‘ésmﬂfsa uﬁiﬁﬁ%mﬁmvlmrmﬁaﬁafa 25% af
T WY, mmm%wwwm%[mmﬁ %3
e, 2012 7o 31 Rwww, 2013airéaﬁzéimatmm1‘mﬁ6§a
ﬁma'ﬂgﬂaﬁwé'rmm: R 2

ﬁaﬁh%hm%ﬁwaﬁmwmﬁamgﬁmﬂﬁw

quweoovaifﬁmamwsoooﬁs%aaﬁm:
amfavhaﬁf #mﬁﬁmmﬂmmaﬁaﬁfﬁ ﬁgmﬁﬁmﬂ
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_"M@mﬂkmmm@mmm Heﬂmhm&pmhmpmbyadﬂmgsn%“
-mmamgfﬁemmhmlhefhﬂmmmeﬁgmesmmmgmmﬂhﬂb—

. '_husmess for thayear:zm-c
i - X -
:Balmwe on Hm—Purchass StoekAucount on 1—1—21?)14 . . 24,000
Bamm!ﬁte‘m&ase Debtors Aewmnqnl-l-zm4 600
Ssellmgpnce afthe goquml;dbnhife-puﬁcm bamsdlmng thegmr 1,81,200
Cashreaeivedﬁom PR durmgthe—year e 134300
T«mlmmumfmmm.mmaffeudmdmngzm e ) . 185,460 :

Onecwmmwwhbmgaﬂdshadbmso&dfmtﬂ,WUpmdmlyfhrwmmlmems of -

' ?Mewh.ﬁnhxsfaﬂurempaythemmihlyumalmmtof? zﬂﬂduenn%Dmm
2014 the gm&&wm mpossessed on 27-12—2914 after Iegal. neﬁce. '

.Pmpmledgwmmaspm&mkmdbeﬁmsm : L 10 '
'_ﬁm mm—mmwﬁm%am%lasﬁmwmwwmmism'
‘ mmm%rmmwmmﬁmmm-mm%wm‘ '

i

~ PTO. - ’
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2
1-1-2014 =1 fFtn-%9 wis @@ H 99 24,000
1-1-2014 = fUa-%a SRR @@ 1 o _. 600
T F A FRE-EE F R WA A w R e 181,200
7 & SRH Fq'o'w—m TR ¥ TR Wit | - 1,84,800
aﬁzoma’»é’im%qﬁsaﬁﬁmmw 185,400

@miﬁm?uoommaaarwm %200%#1%%#%@?%-
meu4m,2014ﬁéwnooaﬁﬁmaww=rmwﬁﬁﬁwﬁr
ﬁ,esrfﬁm&%%aﬁ-27-12-2014aﬁwmﬁmﬁmamwu
-7 A 9 A S T R I F @ oy, ot o e
TS | R B AR wif

Delhi head office supplies goods to its branch at f(anpur at invoice price which is cost

plus 50%. All cash received by the branch is remitted to Delhi and all Branch expenses are

pa.ld by the head office. The following are the partxculars related to Kanpur Branch for the

year 2014 :

-4
Stock at Brlf-mch on 1-1;2'014 at Invoice price ' 60,000
Branch Debtors on 1-1-2014 | ST 12,000

Petty cash on 1-1-2014 _ , 100
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" Goods received from Head Office :clt Invoice price bt T 1,86,000
Goods returned to Head Office . ! 3,000 feeeht wur wHierd, FAQ fom soft wmen 1 sfe g, S A S 50% 8,
Credit sales less returns y : ; ‘ 84,000 w %I. ' E'ITI B IEEI_ TR TR E.:E‘E“ ‘ﬁG{ < et % ERIRC
: ‘ | ot T 1 PR TR FEieE gu B s ¥ e e feg, Mg
Allowances to customers off selling price already adjusted while Invoicing 2,000 : ' = % F= , T 2014 F TG, ‘,
= , S e ¥ e € or
Cash received from Debtors _ 90,000 R
Discount .allowed to Debtors ; : 2.400 o & , ?
Expenses péid by Head Office : : 1-1-2014 = _ | T W - 60,000
" 2400 S 1-1-2014 1 Y@ & SRR ' 12,000 |
Salaries 24000 - - 1-12014 1 e dHs w0 100
Petty cash 1,000 . 27,400 dioh Yod W YYE wEed ¥ 9w we ' 1,86,000
‘Cash sales - ‘ ~1,04,000 - YYH HEGE H AT S9HT it : | 13,000
‘Stock at Branch on 31-12-2014 ‘ : B : .54,000 arafaat T2t UK faeg : . 84.000 i
. Petty cash balance on 31-12-2014 - " : - 100 fohd 0 W TR W W RR i : Y g S & TR
Prepare : — - | - : :
, - - Ry | - FmwEwmE . | C % 2,000
(1) Branch stock account ‘ !
TRA A TR wia - <. 90,000
" (2) Branch debtors account - "l
' | SRR H W S 24009

(3) Branch adjustment aécoﬁnt_ . , »
. YU FEGE g YA R T =3
(4) Branch profit & loss account

_ | : fopran 2.400
in the books of Head Office. . - g - 10
' - o 24,000
P.TO. _ : ;
B TFS 1,000 . E 27,400
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3?12-201%3%#& e | E o _ 5#;0
3112-2914aﬁt§mmrﬂm e ot 2 100
WWﬁaﬁﬁﬁﬁwwmﬁﬁl{ R
) mmm s
@ w%mw -:' |
o3 W‘Hﬂlﬁfﬁ En_m_frm-
@) W w-a e - LA R

o

(e

Thie following i the Trial Balance of Mumbai Branch as at 31st March, 2015 :

( 2'0"5 L =
Salanes e :15,000_
Debtors 37000
Rent - . 5,2 o  9.,600’
OﬂiceEcpem - 4700

Cash in hand & Bank 17,800

Fumitee 14,000

458,500 \ 4,58,500

—

Partiwlrs . 2 Partiowlars A

Delhi Head Office - 32400 Sades " 3,80,000

Stock (1-42014) 60,000 .- Goods supplied to HO. -~ 60,000

Purchases - 178,000  Creditors | L 18800

y .

Goods received from HLO. 90,000

P.T.O.

fiddm?onal i'nfarr}za:im :

Closmg stock was valued at T 27 000 The Branch Account in the books of Head Office

stood at ? 4,600 (Deb1t Balance) on 3lst March, 2015 On 28th March, 2015 the Head :

Office fotwa:ded goods to the value of ¥ 25 ,000 to: the branch where these were received

~ on 3rd Apnl 2015.

Prepare

. () Branch Trading and Profit & Loss Accoun,

- (i) Mumbai Branch Account in the books of Head Office. 10 .
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. 31 7, 2015 = T e % el ﬁgr e ¥

_ ( 22 ) 14
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(i) TEE SIS W,

A, B and C were partners sharing profits and losses in the ratio of 2 :2:1 .réspectivef

The balance sheet of the firm as on 31st March, 2015 was as follows :

it e 2400 - - a0
: %--(1;4-20145: | 60,000 PR wElEE W oWe 4 60,000
O T 178000 WER )
smﬁ mfa‘q ¥ T o 90,000 \ | ‘
aﬂq 3 . 15000
TR 37,000
e | 9,600
. wEEER _ | 4,700
SRR TR T ars0
wiw o R
A 7 -4,58,500 , '4.,5'.8,5'0‘0; E

'mmﬁ@mnwom_wmmgqﬁﬁmmaﬁsmﬁ

# e @ # T A 24,600 (Debit Balance) 71 28 7, 2015 F1. 39 e

¥ 725,000 Tﬁﬁimﬁ' mar @ i fe forg e # =w o 3 aﬁa 2015 £

W g

Liabilities _ R Assets
_Capital : - " Pined Assets 4,00,6
A g 292,000 Current Assets :
B 0 foRotd  -feek 2,50,000
& - - 1,00,000  Debtors  2,50,000
s Loan A_cc.ouri:t' 50,000 - Cash 16,000 5,10,00(
Mrs. A’s L'oé'n 1,00,000 Adv;in;:e to B - 40,000
Sundry Creditors 2,50,000 |
Provision for Bad debts 50,000

9,50,000 9,50,000]

‘The firm was dissolved on the date of Balance Sheet due to continued losses. After preparing

the Balance Sheet as on 31st March 2015, it was discovered the purchases amounting te

¥ 40,000 in March, 2015 were not recorded in the books though the goods were received i@
during March, 2015,



leed assets rea.hsed ? 2 00 000 stock T2 10,000 and debtors 3 2 05, 000 Credltors were
.pmd aﬁer deductmn of dlscount @ 2%. Thf: reallsauon expenses mnmmted to ? 10,800, A ‘
-agreed to take over the loan oers A. B is msolvent and his estate is unable to contribute -

anythmg Prepare Realisation A/C, Partners Capxtal A/Cs ami Cash A/C to clas& the books :

(23)

- of the firm applymg the dBClSIC)n in Garner Vs. Nmrray

A,Bazncm 2 2-1%mﬁmmﬁﬁﬁmﬁm%u 31111%1‘.

"2015ﬁmmﬁmwﬁﬁmmm‘ |
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_1()

aﬂaﬁwﬁaﬁwﬁﬁﬁmﬁﬁmwmﬁwnﬁ 2015ﬁmm

mﬁwﬁvmﬁa‘iﬁmgqez,oowo Eﬁﬂtzloooomémﬁ%mosood

X

’ co‘ntributed originally in the proportion of 4 : 3 : 2 : 1, The, proﬁts and losses were shared

(24) il

wm@ﬁmﬁ%mgm—wﬁﬁﬁmﬁﬁ@aﬁmﬁﬁwmﬁmm
31 T, 2015@@?—%%%*%%3@%% 2015 & ¥ 40,000 %

Tl'q[ﬂTl

ﬁaﬁﬁz%a&mmﬁmwmﬁmm%wmgmm% sﬁti?ﬁ‘

(areram)

A, B, C and D were partners in a firm. The capital of the ﬁrm consisted of ¥ 80 0007

in the same proportion. The firm was dissolved on 31st March, 2015. The Balance Sheet

asonthatdatewasasunder.

L & L 7 ws‘ wﬁﬁ - 4,00,000
A 292,000 'aﬂwﬁm‘f
'B 108000 T 250,000 |
e 1,60,0_69 aam . ,2,50,900.'_
e wasvr I 50000 FE . 10,000 " 510,000
aﬁmﬁ A H R 100,000 B M G 40,000
i 2,50,000
-_'aéaﬁwmm 50000
950,000 5,50,006"
“pTO.

Lisbilities - T Assets - 4
Capital : | - Stock 38,000
A 40,000  Debtors , " 1,00,000

B | 28000  Cash = 12,000
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¥

7 21,000 n o £ ib, e W i The stock was completelf disposed off. It was further agreed that B should take over the

o3 SN R 5000 TRTE e AN A SRl remaining debts of  5,000. Show the distribution of cash through maximum possible loss

method. . ' 10

A T e A.B,C 3R D wH W wakR A1 5 A G0 € 80,000 Frd WA ¥ e

B . 14560 13!4.-3:2:1%agqmﬁmm|am-zrﬁaﬂﬁwmsﬂsﬁwﬁﬁmw

SRR AT 31 A, 2015 H W H i R e ) 3w ffw B wd B geR-T 39 YR
Creditors CT 30,000 _ o . | . » . _ . i
) sy T T, =" oo - qr .

150000 - - O 1s0/000 N L
' - SR C L T wwfaa - ?

Itwasdemdedon15thApnl,2015thatﬂ1enetma]isaﬁenshmﬁdbedlsmbmdantheﬁm '

' : _ofeanhmonﬂamﬁxeappmpnaﬂamder I‘hemhsznonandaxpanmatﬂmendofeachmemh 3 .
'wemasunder S T B S ‘ L7 A7 , 40,000 IR ©1,00,000

L ‘ =w 38,000

Debf;)ﬁ o -."5“’“‘- " Expemses z B 28,000 & | 12,000
- - N Pt e S , c 21,000

Al - ' '-30;009 o ' _1'4_,‘006 Tat 1,000 R D | 5,000

‘ Ma” . .17:695 _ 10,090'- 20000 =0

Jwe <  ame - A 10,000

by L v -V'."u',OUU _ - 8000 300 _- Al C . 16,060

August PN 14000 . 5,000 200 TR 30,000

. PTO. . 1,50,000 ' 1,50,000
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15 39, 2015 =t faofa e 1 for Frae oget =) Ofe =1 v a© =1 Tea fafy
Fr 3faq w0 F st T W@ W W B o § agen qw @S w5 o=k A R

™R

4
i 30,000
wH 17,000
B 22,000
e 11,000
3T 14,000

~

14,000 .

10,000

8,000

5,000

wd

1,000

2,000

500

300

200

m‘aﬁﬂg&mmﬁaﬁﬁmwlmﬁwsﬂmw& z 5,000 F
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This question paper contains 6 printed pages. : Vour RollNa. o i
Sl No. of Ques. Peper 1862 2 ; GC-3
Unique Paper Code : 22411102
Name of Paper : Business Law .
Narﬁe of Course : BCom(Hons) CBCS
Semester 8 i ain RS e e
- Duration : 3 hours -

- Maximum Marks 15

WWMNG o the top immediately. on receipt of this question paper.)
(snmwérﬁwl.a? smﬁ:z?_m? Fraffa WW'WW farada) -
\ s

‘NoTE:— Answers may be written either in Engllsh -or in Hmdz, but the same med:um shouh

used throughout the paper.

W—wwwmaﬁﬁwfﬁﬁﬂ?mw#ﬁm F?ﬁﬁw?aaﬁmn

1.

(a)

(b)

o & &1 R
Attemp't_gfl_l questions. All questions carry equal marks.
Tt T & I Ao @t T & o a8

State, with reasons in brief, whether-tﬁe followirig statements are true or false:
(i) Collaterai tfan’s.actions'to an illegai agrccqicnt' ajré valid.

(ii) Mere silence as to facts is not fraud. :

(iii) Quasn contracts are not contracts in time real sense .o_f.the term.

HaY ¥ T 3 aaRY 5 Frefaied Su w § a1 st

@) aﬁuw%mwﬁﬁ@?héﬁﬁﬁ?l

(i) awi%nﬁrmgw’raﬁa‘mwﬁ%n

“(iii) aﬁvﬁmﬁm%mﬁamﬁ Hﬁﬂqﬁ‘ﬂ?ﬁl

“The law of contracts is not the whole law of agreements, nor is it the whole la

- obligations.” Explam

0

Hﬁﬁaﬁmwmmwmqﬁmaﬁtqﬁﬂ%mmﬁww
aﬁrél"maﬁml

Or (#1gen)
Statc, with reasons in brief, whether the followmg statements are true or false

P. T
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7 (ii1) Spemal damages can be «

(B)

U IA | U TN T R Telipa ReAT T oOf S A 9% 8L A1) B 39

(©

(a)

(i) Avoidable contract may r>main valid.
(i) Insurance is an example oi wagering agreements.

wimed as a right by the aggrieved party.

#mﬁmémm@aﬁmﬁﬁﬁmﬁwﬁaammm?mmz

TARONT FR 3G &0 T FHal § |
i) o, oo R e R ,
(iti) feiw @il % fow aren, safoa o@f sfaen % w0 o, & g 21 o

A, a minor, borrowed some money from B-and executed a promissory note in favour
of B. The promissory note was renewed by A when he attained majority. B brings a
suit against A on the basis of second promissory note. Will he succeed in recovering
money from A? Give reasons.

Aﬁ@W%Bﬁg@&maﬂﬂﬁﬁméaﬁ?B%wﬁmwﬁwﬁa

mwé‘mmmAézﬁaamaﬁaﬁéﬁT%tm&%Aﬁﬁmaqa&ﬁWﬁ
g\mmwa’rﬁml_ : 3

Ram'’s son absconded from home. He sent his manager in search of the boy. After the
manager had: left, 'he announced a reward of Rs. 10,000 for anybody giving
information about his son. The manager came to know of this offer only when he had
already traced the missing boy. Explain his rights giving reasons.

m?ﬂézrzmﬁmﬁwmlwﬁa‘«;ﬁaaﬁaﬁ\aﬁ%mwﬁwaﬁﬁml
YH4% & W & 9G IG IH AR H 10000 Fo H ITER 3T F Aw0T F, S oft

= 3EF A2 FH AR A I M| S FN I T BT A9 T 5 3G A2

I AT T o o1 | I AfHER Fosmen W o wwRw dvg 3

(i) “Custody of goods implies property in goods.” Comment. .

(i) X agreed to sell to Y the entire quantity of oil lying in a tanker in X’s godown.
The oil was to be.filled into drums and then the drums were to be delivered to
Y. Some drums. were filled in the presence of Y; but before the remaining
drums could be filled, a fire broke out and the entire quantity of oil was
destroyed. Who will bear the loss? Discuss. -

(iii) A delivers some jewellery to B on sale or return basis. B piedges the jewellery

'with C: A sues B for recovery of price. Will he succeed?

() “wre H sfveen & Ffead @ we F guf ) feolt @i

(i) X ¥ # Gt 5En # Y B A9y AU weed & W 2 S ae X % den F
a0 H TS A1 AF B A F 9w 5 a7 R R H B Y & 9 fawEr
o | FB gE W Y 3 Iufeafy ¥ R femm e an Wy 99 Wi F o ¥ e

3

(@ @

3 gy

mvﬁaﬂs‘aﬁiﬁﬁﬁmﬂm?gé‘ﬂs
foreram sifer |

(iif) Ag@wwﬁaﬁmmaﬂquBzﬁ%*m?msanWHﬁc
T T W IR A sﬁaﬂaﬁﬂaa@ﬁ%ﬁTBm—larmémém
I WS A2

G B W e e s

(b) “The Doctrine of Caveat Emptor does not apply in‘all contracts of sale of good

Explain the Doctrine and give the situations where this Doctrine is not applicable.

"Bl YA WY, 9 Rl wre-fE # RIECIE IR o G L < e
aﬁmﬁﬁqaﬁtmw#mﬁﬁaﬁfﬂmﬁmqﬁﬁmﬁ .'_ :
 Or (aigam)

“A soller becomes ‘an- Unpa]d seller only when the buyer has not pald the prici
Commcnt .

(i) A lady, who kncw that her skm was abnormally sensxtlve, bought a coat a
developed skin trouble by using it. She did not disclose to the seller that b
skm was abnormally sensitive. Can the seller be hcld lxable'P :

- (i) Dlsnngulsh bctween rlght of lien and. nght of stoppage of. goods in tranmt

@) ﬁ%m@smméﬁawmw%m%mﬁmq@éa
feuuit Fifsa 1

(i) @uﬁmsﬁmﬁsﬂﬁsmﬁmmqﬂmm%ﬁmﬂa%@e
wedt § ot o wdm q S @ AT A s 20 swy B @ W

ammmraasmﬁamamﬂm Hﬁﬂ?ﬁﬁ%lwﬁm@ﬁ!ﬁmm
JT T § 7

(iiij Hmfmlaﬂi'qﬁﬂﬁaﬁ%aquﬁammn

(b) “A seller cannot convey a better title to the -buyer than what he himself has.” Expl:

the statement, giving exceptlons to this rule, if any.

ﬁ%m#maﬁmﬁmwﬁ%mﬁmwﬂ:m%wél“sﬁ$m
maﬁﬁqaﬁtwmimﬁmaﬁ:a&éal :

(a) State the process of formation of ELE.

LLP%;ﬁﬂfmaﬂmmrac—a@aﬂﬁm

(b) State the c1rcumstances under which a Limited Llab111ty Partnership (LLP) can

wound up by the court.

'ﬂwﬁﬁwﬁmaﬂaﬁwﬁmmﬁﬁﬁaﬁmﬁﬁwﬁ?ﬁ(ﬂmaﬁmm

EIH&'EIT%I
P.T.C
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©)

(b)

(a)

Or (BWIET) ‘

Explain the following statements:
(i) - AnLLP has a legal entity separate from 1ts partners

(ii) The responsibility for carrying out the legal oblrgatrons as laid down by the LLP
Act shall be solely of the desrgnated partners

(111) Every partner of an LLP is an agent of the LLP only and not of other partners.

ﬁmﬁmmﬁﬁm@raﬁm

@ ‘LLPaﬁmé;fmﬁnﬁﬁqaasf‘af‘wmﬁ?ﬁ%l

(ii) uPafﬂﬁwmmmmﬁﬁfﬁmmmaﬁaﬁﬁqﬁaﬁmﬁamm
- fafde wriiert =t @l

(iif) LLPWE@EWRWLLPET@?@W?@IWWWT@I 9

State the nrovrsrons of -LLP Act 2008 relatrng to changc in regrstered office of an
LLP.

LLP sifufam, 2003aﬂaqawaﬁarraﬁ@aﬁﬁmﬁmwuupé:wﬁqm
'amfanﬂ‘wﬁa'ch%%l | _ | 6

Comment on the following statements:
@) Electronic recdrds-are not as auth'entic as hard copies.

(if) © Cyber Terrorrsm has.been regarded as a oyber crime' under IT (Amendment)
Act, 2008 \

(i)’ One of the main objects of IT Act is to facrlltate e- governance

‘ ﬁwf%fﬁaamﬁmﬁmﬁaﬁm

Q)

() sﬁaemﬁmemmmne%m%néeweﬁél

(ii) msar%aqma & IT A (mﬁfan), 2008 FIH TR YUY JET
ST ® |

(111) ITﬁW#g@ﬁmnﬁqméwﬁgﬁmmél ‘9

Define Certlfymg Authority. What are the duties of certifying authontles"
Wﬁﬁtﬁﬁﬁwﬁﬁmmﬁwﬁﬁaﬁqmwél : 6
Or (s1an): '

(a)

(2)

(b)

(a)

~ the statement, giving except:ons, if any.

5 : § 1862

Define the following terms:
(i) . Hash function
(ii)  Key pair

(iii) Computer network and computer virus.

Freafefia wdt & afemer A
) W wEE
(i) F-YT

(iif) Whﬁ%ﬂhwml
(b) *

‘Any person may make an apphcatlon to a certifying .‘authority for issue of L
Signature Certificate.” Explain the provisions of IT Act for grant and revocatr
Digital Signature Certificate.

ﬁiﬁmﬁsmaﬂmﬁaﬁﬁﬁwm«wvﬁwm%m
mw%n”nwﬁﬁwﬁmm&ﬁaﬁmaﬁma}%ﬁmaw
W%ﬁﬁtﬁmﬁwﬁﬁ%

Write short notes on the followmg: X
(i) Agency by ratification
(ii) - Surety as a favored debtor

(111) Doctrine of supervenmg 1mpossrbrhty

ﬁwﬁf@nmﬁmﬁmﬁmm:

(i) ST T ee

(i) RS IR & &Y F S
(iii) STt HoTeTaT fasre |

“Who can become partner in an LLP? What are the drsqualiﬁcations for becom

partner? How can a person become a partner of an LLP?
LLP # wrftere w7 2w 22 Wﬁmaﬁ%ﬁmmwﬂ”wﬁn
SR LLP & WAfCR @ Wehal 37

Or (a1wram)
“A stranger to consideration can sue, but a stranger to contract cannot sue.” Ex;

BT
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mlﬁqﬁﬂqﬁ ;Wmmﬁm?%ﬁgjﬁm A EB;C Sr.No. of Question Paper : 1788 _GC3 Your Roll No.cccoianneene
®) D watelbethe p.ro_cedure of cénver;ioﬁ "o.f_»é p'rivate,dompai;).z- into LLP.' : Unique Paper Code : 32351101
ﬁéﬂ_ mﬂ LLE ¥ W zﬁm EFTET“h afh%rq P 6 | Name of the Paper : C1—Calculus
| | P R R £ Name of the Course  : B.Sc. (Hons.) / Maths — I (CBCS)
Semester : 1
v Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

All the sections are compulsory.

2
3. All questions carry equal marks.
4

Use of non-programmable scientific calculator is allowed.

SECTION -1
Attempt any four guestions from Section I.

1. If cos™ %= log(i) then show that
n
x*¥,,, +(2n+1)xy,,, +20’y, =0

2. Sketch the graph of

1
fx)= §x3 —9x+2 by finding intervals of increase and decrease, <ritical points,

relative extrema and concavity for the given function.

| ST, _ ) LRE Weatil i may st



: ; 1788 N
1788 S 2 e g , . :
e i ‘ 2 8. Find the volume of the solid generated when the region enclosed by the curve
3. Find the horizontal asymptote to the graph of the function X =2y —2y? and x =0 is revolved about x-axis
£(x)= xs[sinl s —1—3] .
" 6% 9. Find the arc length of the parametric curve x=e' sin t, y=e' cost for

4. TItis projected that t years from now, the population of a certain country will be
P(t) = 50" million fob o

(a). At what rate will the population be changing with respect to time 10 years
from now. ]

(b) At what percentage rate will the population be changing with respect to
time t years from now. :

5. Sketch the graph of the curve.in polar coordinates 1

r? = 9cos 26.

SECTION - 1II 12
Attempt any four questions from Section — II.

6. Find the reduction formula for _[ sin® xdx where n being positive integer and 13.

=z

2
hence evaluate Isin“ xdx . 14
]

Further show that |sin® xdx = | cos" xdx .

&ty |2
O Cm— | A

7. Find the volume of the solid generated when the region enclosed by the curve
15.

y= \/;, y=6—x and y= 0 is revolved about x-axis.

o<t< X,
2

- Find the area of the surface generatsd by revolving t:he curve

x =49-y’, -2 <y <2, about y-axis.

SECTION - IIX
Attempt any three questions from Section — III.

Find the equation for a hyperbola passing through the origin with asymptotes

y=2x+1and y =-2x + 3.

. Find the equation of the ellipse whose foci are (1, 2) and (1, 4) and whose minor

axis is of length 2.

Describe the graph of the equation x? — 4y* + 2x + 8y — 7 = 0.

. Trace the conic x? +2J§xy + 3y’ +2+/3x —2y = 0 by rotating the coordinate axes

to remove the xy term.

» SECTION -1V
Attempt any four questions from Section —IV.

Find tangent vector and parametric equation of tangent line to the graph of the
vector function

ﬁ(t)=t2§+(cost)j+(tzcost)f< at t=§,

PTO.
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16. A shell is fired with mtiz"zlé speed 150 m/s and angle of elevation 45° from a
position 10 m above ground level. Where does the projectile hit the ground and Sr. No. of Question Paper : 1789 FC-3 Your Roll No............
with what speed ?

Unique Paper Code 1 32351102
17. Find the tangential and normal components of acceleration of an object that Name of the Paper : C2— Algebra
. d . e
moves along the parabolic path y = 4x? at the instant the speed is d—:= 20. Name of the Course : B.Sc.(H) Mathematics — I (CBCS)
. o Semester o |
18. An object moves along the curve Duration : 3 Hours A Sl =
1
r= and 6=t Instructions for Candidates
1-cos6
Find its velocity and acceleration in terms of unit polar vectors u_and u,. 1. Write your Roll No. on the top immediately on receipt of this question paper.

2. All six questions are compulsory.

19. Find the curvature and radius of curvature for a curve )
3. Do any two parts from each question.

x = 3cost, y=4sint, z=t at t=§_
1. (a) Find the polar representation of the complex number {6)

=1 + cosa + sina, o € (0, 2w)

(b) Compute {6)

((1—i)'°(v6+i)5)
(-1-iv3)"

Zz=

(¢) Find the three roots of unity of the complex number z = 1 + i and represent
them in the complex plane. {6)

2. (a) Fora, b e Z/{0} define a ~ b if and only if ab > 0. )

(i) Prove that ~defines an equivalence relation on Z.

(2600)
PTO.
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(®)

(©)

3. (@
(b)

(©

4. (a)

(b)

2

(ii) What is the equivalence class of 5 ? What is the equivalence class of

-5?
Find the ged (1800, 756). (6)
Define S : IR ---— IR by S(x) =x — | x]. Is S is one to one ? Is it onto ?
Explain. : (6)
Given natural numbers a and b, show that there are unique non — negative
integers q and r with 0 <r < b such that a =bq + . (6)
Show that the open intervals (1,3) and (0,) have the same
cardinality. ) _ (6)
If ac = bc(mod m) and (¢, m) = 1 then a = b(mod m). (6)
Determine the values of h and k such that the system
x, + hx, =2
4x, + 8x,= k
has (i) no solution (ii) a unique solution (iii) many solutions (6'%4)
1 -3 h
Let v,=| 0|, v,=| 1| and y=[-5].
-2 8 -3

For what values(s) of h is y in the plane generated by v, and

v, (6%)

1789 3

(c) Balance the given chemical equation where Boron Sulphide reacts violently
with water to form boric acid and hydrogen sulphide gas. The unbalanced

equation

B,S, + HO —» H,BO, + H;S
Here, for each compound, construct a vector that lists the number of atoms
of boron sulphur, hydrogen.‘and oxygen. (6'2)
(a) Let T: R? > R* be defined as
T(x,, x;) = (2%, - 3x,, X, —4x,, 0, x,).
(i) Prove that T is a linear transformation.

(ii) Find the stanidard matrix of T. (6%)

(b) LetT:R"— R~ be a linear transformation and let A be the standard matrix

for T. Then prove that
(i) T maps R® onto R™ if and only if columns of A spans R™.

(i) T is one to one if and only if columns of A are linearly independent.

(6%2)
(c) Find the basis for the column space and null space of the matrix
4 59 =2
A=]|6 § 1 12 (6%2)
3 48 3

(a) (i) Define a subspace H of R" and its dimension too.

IsH = {(a,b,c,d} | c=a+2b+3d} asubspace of R*. Justify your

answer. (62)

PT.O,
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(b) Determine the dimension of the subspace H of R® spanned by the [This question paper contains § printed pages.]
voatuss Sr.No. of Question Paper : 1796 GC-3 Your Roll NO..ieerrernranes
2 3 1 Unique Paper Code 1 32371101
vi=|-8], v,=|-7| and v;=| 6 (6%) Name of the Paper : Descriptive Statistics
6 -1 -7 : -
Name of the Course : B.Se¢. (Hons.) Statistics under CBCS
Semester : I
L2 3H M Marks : 75
: Duration : ours 4 E aximum Marks :
(¢) Is A = 3 an eigen value of the matrix |3 —2 1|9 If so, find one
0 11 ;
corresponding eigen vector. (6%) Instructions 'for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt 6 questions in all.

3. Question No. 1 is compulsory.
4

Attempt 5 more questions selecting three questions from Section A and two
from Section B. '

5. Use of simple calculator is allowed.

1. Fill in the blanks :
) [x+6] + [x—4] + |x| + [x+ 10| + [x+3| is least for x = _____.

(ii) For a platykurtic distribution v, is

(iiiy For a discrete distribution standard deviation is than mean deviation

about mean.

(iv) If Corr(X, Y) = 0.8, 6, =2.5 and o, = 3.5, then Var(3X-2Y) is

(v) If X, X,, and X, are three variables, then partial correlation coefficient

Toaa —

(2600)
PTO.
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(vi) Correlation coefficient is the of regression coefficients.

(vii) The acute angle between two lines of regression fs given by

(viii) In case of n attributes, the total number of ultimate class frequencies is

and number of positive class frequencies is

.

3 5 |
(ix) If P(A) = 1 and P(B) = %, then lower limit of P(A m B) is

(x) Milk is sold at the rates of 8, 10 and 12 rupees per litre in three different

months. Assuming that equal amounts were spent on milk by a family in the

three months, the average price of milk is

(xi) Arithmetic mean of 100 observations is 50 and standard deviation is
10. If 5 is subtracted from each of the observations and then it is

divided by 4 then new arithmetic mean is and standard deviation

is

(xii) A, B and C are three mutually exclusive and exhaustive events associated

with a random experiment. If P(B) = (3/2), P(A) and P(C) = () P(B) then-

P(A) is

and P(ANB) is (RERRRRR&EL L)

SECTION A

2. (a) (@ Prove that the sum of the squares of the deviations of a set of

observations is minimum when taken about mean.

(i) Let r be the range and s be the standard deviation of a set of

observations x, X, ..., X,. Prove that s <r.

1796 3

(#3]

(b) In a frequency table, the upper boundary of each class interval has a constant
ratio to the lower boundary. Show that the geometric mean G may be

expressed by the following formula :

logG =x0+%zifi(i—l),

where, X is the logarithm of the mid value of the first interval and c is the

logarithm of the ratio between upper and lower boundaries. (6,6)

(a) Show that in a discrete series if deviations x, = X — M, are small compared
with the value of the mean M so that (x/M)? and higher powers of (x/M) are

neglected,

2
@ H= M(l—-;‘?J

) 1 1 3¢’
(i) Mean pay =M 1+_T—8M2 approx.

. : 5
where, H is the harmonic mean of the values X, X,, ..., X, and ¢”1s the

‘variance.

(b) Two variables X and Y are known to be related to each other by the

relation Y = . Derive the normal equations for fitting the given

aX+
curve and estimate the constants ‘a’ and ‘b’ for a given set of n points

{xsy), 1= 1,2 . nj}. (7,5)

P.ILO,
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4. (a) Define Spearman’s rank correlation coefficient. Let X;, X, ..., X, be
the ranks of n individuals according to a character A and y,, ¥,, .-, ¥,
be the corresponding ranks of the individuals according to another
character B. Obtain the rank correlation coefficient between them if

x,+y,=n+1Vi=12..n

(b) X and Y are two random vgﬁables with variances oj and o,? respectively
and r is the coefficient of correlation between them. If U = X + kY and

V=X+ Sy , find the value of k so that U and V are uncorrelated.
o
Yy

(6,6)
5. (a) Show that 1-R}, =(1- r;)(1—r,;2)
Deduce that (i) R, 271,
@) Rip =1 +15 if 5;=0

Gv) 1-Rl;= (1 p)(1+2p) , provided all coefficients of

(1+p)

zero order are equal to p.

(b) Given that Y = kX + 4 and X = 4Y + 5 are the lines of regression of Y on

1
X and X on Y respectively, show that 0 < k £ 1/4. If k = 16’ find

mean of two variables and the coefficient of correlation between them.
(7,5)

1796
6. (a)
®)
()
7. (@)
(b)

g
SECTION B

Four tickets marked 00, 01, 10 and 11 respectively are placed in a bag.
A ticket is drawn at random five times, being replaced each time.
Find the probability that the sum of the numbers on the tickets thus

drawn is 23.

IfA, A, ..., A aren independent events with P(A)=1— —-17, i=1,2,..,n
o

then find the value of P(A, UA, LU ... UA).

A problem in Statistics is given to three students A, B and C, whose chance
of solving it are 4, % and Y% respectively. What is the probability that the
problem will be solved if all of them try independently. (5,3,4)

State Bayes’ theorem.

In answering a multiple choice test, an examinee either knows the
answer Or he guesses or he copies. Suppose each question has four
choices. Let the probability that examinee copies the answer is 1/6 and
the probability that he guesses is 1/3. The probability that his answer
is correct given that he copied the answer is 1/8. Suppose an examinee
answers a question correctly, what is the probability that he really knows

the answer ?

A B O g (4)_(60)_(ch)
N N N N N N

then, using the conditions of consistency of attributes show that

0<y<x<U. . (7,5)

PT.O.
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8. (a) LetA,A A be the events in the domain of probability function P, such
: / i g .

that P{O A{\ < iP[Ai]. Using this relationship, prove that :

=l i=l

@ P[ﬁAf] zlaip[ﬁi], and

i=1

) P[ﬁAi] =3 P[a]- (D).

i=1

@ Given that (A) = (@) = (B) = (8) = (C) = () = N/2 and (ABC) = (f)

then show that

2(ABC) = (AB) + (AC) + (BC) — N/2.

(1,5

(400,

%fHMUQ &
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Instructions for Candidates

L.

2
8,
4

Write your Roll No. on the top immediately on receipt of this question paper.
Attempt 6 questions in all.
Question No. 1 is compulsory.

Attempt 5 more questions selecting three questions from Section A and two
from Section B.

Use of simple calculator is allowed.

Fill in the blanks :

Q) [x+6] + [x—4| + [x| + |x+ 10| + [x + 3| is least for x =

(ii) For a platykurtic distribution y, is

than mean deviation

(iii) For a discrete distribution standard deviation is

about mean.

(iv) If Corr(X, Y) = 0.8, 6, =2.5 and G, = 3.5, then Var(3X-2Y) is

() If X, X,, and X, are three variables, then partial correlation coefficient

r23.] =

PT.O.
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(vi) Correlation coefficient is the of regression coefficients.

(vii) The acute angle between two lines of regression is given by

(viii) In case of n attributes, the total number of ultimate class frequencies is

and number of positive class frequencies is

(ix) IfP(A) = % and P(B) = %, then lower limit of P(A m B) is

(x) Milk is sold at the rates of 8, 10 and 12 rupees per litre in three different
months. Assuming that equal amounts were spent on milk by a family in the

three months, the average price of milk is

(xi) Arithmetic mean of 100 observations is 50 and standard deviation is
10. If 5 is subtracted from each of the observations and then it is

and standard deviation

divided by 4 then new arithmetic mean is

is

(xii) A, B and C are three mutually exclusive and exhaustive events associated
with a random experiment. If P(B) = (3/2), P(A) and P(C) = (4) P(B) then

P(A) is and P(ANB) is (LLLLLLLEL222)

SECTION A

2. (a (i) Prove that the sum of the squares of the deviations of a set of

observations is minimum when taken about mean.

(i) Let r be the range and s be the standard deviation of a set of

observations X, X, ..., X,. Prove that s <r.

1796

. (b) Ina frequency table, the upper boundary of each class interval has a constant

3. (a)

ratio to the lower boundary. Show that the geometric mean G may be
expressed by the following formula :

108G = x, +%Zi.f,. (i-1),

where, x, is the logarithm of the mid value of the first interval and ¢ is the
logarithm of the ratio-between upper and lower boundaries. (6,6)

Show that in a discrete series if deviations x, = X, — M, are small compared
‘with the value of the mean M so that (x/M)* and higher powers of (x/M) are
neglected,

G H= M(l—&—i}

1} 1
(il Mean (W)zﬁ[]-{-;%) approx.

A where, H is the harmonic mean of the values X, X, --s X, and o?is the

®

‘variance.

Two variables X and Y are known ta be related to each other by the

« X ;
relation Y=m. Derive the normal equations for fitting the given

curve and estimate the constants ‘a’ and ‘b’ for a given set of n points

{Epy), i=12 .. n}. (7,5)

P.T.O.
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4.

(a)

(®)

()

()

4

Define Spearman’s rank correlation coefficient. Let x,, x,, ..., X, be
the ranks of n individuals according to a character A and y,, ¥,, o0y ¥,
be the corresponding ranks éf the individuals according to another
character B. Obtain the rank correlation coefficient between them if

x+y=n+1Vi=12,.n

X and Y are two random variables with variances ¢ > and cy2 respectively
and r is the coefficient of correlation between them. If U = X + kY and
V=X+ &Y , find the value of k so that U and V are uncorrelated.
o
Yy

(6,6)
Show that 1— Rfﬂ =(1-5)(1-1,)
Deduce that (i) R, 21,
(i) R, =13 +13, if 1,=0

. _p? _(I_P)(1+2P)
(@) 1-Ry; = (]+p)

zero order are equal to p.

, provided all coefficients of

Given that Y = kX + 4 and X = 4Y + 5 are the lines of regression of Y on

1
X and X on Y respectively, show that 0 < k < 1/4. If k = R—, find

mean of two variables and the coefficient of correlation between them.
(7,5)

1796

6. (a)
(b)
©

7. (a)
(®)

5
SECTION B

Four tickets marked 00, 01, 10 and 11 respectively are placed in a bag.
A ticket is drawn at random five times, being replaced each time.
Find the probability that the sum of the numbers on the tickets thus
drawn is 23.

IfA, A, ..., A, are n independent events with P(A)=1— —1—;, i=1,2,..,n
o

then find the value of P(A, WA, U ... UA)).

A problem in Statistics is given to three students A, B and C, whose chance
of solving it are %, % and % respectively. What is the probability that the

problem will be solved if all of them try independently. (5,3.4)

State Bayes’ theorem,

In answering a multiple choice test, an examinee either knows the
answer or he guesses or he copies. Suppose each question has four
choices. Let the probability that examinee copies the answer is 1/6 and
the probability that he guesses is 1/3. The probability that his answer
is correct given that he copied the answer is 1/8. Suppose an examinee
answers a question correctly, what is the probability that he really knows

the answer ?

LA (®)

X~ L=x, ~~=2x,~~>=3x and
N N

(©) (AB) _(BC)_(cA) _
N N N N ’

then, using the conditions of consistency of attributes show that

0<y<x<% \ (7,5)

PT.O.
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8. (a) LetA,A,, ..., A bethe events in the domain of probability function P, such

that P[UA[] & ZP[Ai]. Using this relationship, prove that :

i=l i=l

n

o) P{QAi}zl—Z}P[KJ, and

n

(i) P[ﬂAi} = gP[Ai] —(n-1).

i=l

(b) Given that (A) = (a) = (B) = (B) = (C) = (y) = N/2 and (ABC) = (afy),

then show that

2(ABC) = (AB) + (AC) + (BC) — N/2. (7,5)

(400)

d
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Write your Roll No. on the top immediately on receipt of this question paper.
Question No. 1 is compulsory.

From the remaining attempt five questions, selecting at least one from each
section.

Attempt any five parts :

e -1 .
(a) Show that 111:%6l does not exist.

ex +1

. x cos x—log(1+x)
(b) Evaluate }(lgg = s

T x° r 1
(c) Prove that j XTdX = Lcl,
o © (log )

11
(d) Evaluate II S dx dy.
00

J(1=x)(1-?)

PT.O.
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()

®

®

(h)

(b)

(®)

4. (a)

2
Solve (1 + y*)dx = (tan™' y — x)dy.

(D?-3D +2)y = 3sin x.

Find partial differential equation of all planes a distance of a units from

origin.

Solve partial differential equation (y —z)p + (z—x)q = x—y. (5%3)
SECTION -1

Determine the minimum value of x? + y? +z? subject to the condition

x +2y —4z = 5.
If y = cos(m(sin! x)), show that (1 — Xy, — (2n+ Dxy,,, +Hm? - n’)y, =0
and hence evaluate y (0). (6,6)
If A, B and C are the angles of a triangle such that

dA tanB-tan C
sin? A +sin? B +sin? C = t B tnC —tnA "
n sin sin \/3, prove that dB tan C - tan A

Find the position and nature of the double points on the curve -

(y—-2)*=x(x—1)~ (6,6)

SECTION - II

|
z )
2
Prove that do = ! L
0 \/a cos*0+bsin'0 4\/;(ab)5

1797
®)

5. (a)
(b)

3

Assuming the validity of differentiation under integral sign, prove that

1
—a?

j e cosax dx = ke 4 . ) (6,6)
5 2

n+r

.
; , ; <« 1

Find the limit, when n trends to infinity, of the sum : z = .
T n\Vn-r

3a 3a—x

Change the order of integration in I _‘- F(x,y)dy dx and hence evaluate

0 x2/4a

when F(x,y) =x +y. (6,6)

SECTION — III

6. Solve the following differential equations :

i) (x*y —2xy¥dx — (x* - 3x*y)dy =0

1

7. Solve any two of the following differential equations :

2
Q) ngx—}zl+ 7x:y+l3y= log x

X

d’y

m)a+2@?ag—6U+2ﬂg§+my=su+2@2

(iiiy (DZ+2D+ 1)y = 2x + x? (6.6)

PT.O.
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SECTION - IV

8. Solve any two of the following partial differential equations :

(@) (x*—y*-2z%)p + 2xyq = 2xz
(ll) xzpz + yqu = 72
(iii) (D*+DD’'—-6D"?)z = ycos x

9. (a) Solve p?+q*=1 using variable separation method.

8%z

ayz

. .
(b) Solve the partial differential equation &f_ +X

0.

(6,0)

(6,6)

(400)
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‘me of the Paper : Statlstlcal Methods _
e of the Course : B.A.(Hons.)/B Com. (Hous.)/BSc.(Hons.) underCBCS GenencElecm?

ation : 3 Hours - e s : : MammllmMarks 75 _7
(Write your Roll No .on the top xmmedtately on recezpz of this questton paper ) ‘
§muon Als compulsory.
A&empt any Five questions; selccﬁng at. l_éast rwg.

J S questioﬁs from each of the Sections B and C.

- Use of simple c‘a]culatbr is allowed.

Section A
: Answer the 'followipg -
-' () : Ifina series;- 20 perccm va;lue; are _grea-terrthan 150, then ....... =.150. 1
‘:.(iz) The algebra,ic'sum'of déviatioﬁs_ about mean i; s e £ £ Y
§(m) Two lines of ‘reg-ressior'n int_ersejct_ at the point .....cccoovvieeeeeiennnnnnn, 1
(iv) The limits of rank corrélation 'coeﬁicient A8 ...l peaseitinsis and Gueanie A |

~

‘ B
(v) If two attnbutes A and B are completely associated, then the Yule’s coefﬁclent of _

Association 10 ke e 1

. i PTO:
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' (x) Obtaln the anthmetlc mean Iand:-ve_riénee_efﬁﬁt .nvnat'm:,al numbers. -

i WthhSerles is me:_e; cen.siie‘tent_ 7 Give ,réasoﬁ;;
(8) - Debns the variebles” "
X 2 Y 100

UW a“”f TR

i R ar L: i
AU, V) =075

" find (X, Y). Give reason. . -

(xi) The average marks for statlstlcs 1n a class of 30 was 52 The top szx students had an

average of 31 What was the average marks of the other students ‘7 2

'_Seetion BV

- (a) Compare ordinal and mterval sca]es of nxeesnre_ment giving smtable ‘e_xam_ples_.

‘ 7yt e iy
7 (3 )_ 272
(b) For the follomng contmuous frequency dlstnbutlon draw an appropnate chart 6

Na of Boys :

e
(m YearS) ﬁ
e

@ Fora frequency disibuton e sl

x,{f;, iy 15, 0%
| show that the sum of squares of the dewanons of a set of values is mmlmum when taken )
aboutmean | '

b) —i The mode of the followmg Wage dlstrjbutlon 1s known to be Rs 4 an the values
;;‘.,ofmlssmgﬁ'equencws i NI e i
Wages (in Rs.) . Frequency by 3
o—t0 :,4- '
10—20 Nl | fs
0 s LEl by
g, | PTO.
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Define harmonic mean. Describe ‘its merits and demerits. Where is it used ?

If G, is the geometric mean of N x’s and GJ., is-the geometric mean of N y’s, 1
the geometric mean G of the 2N valués"is given by G2 = Gx Gy.

Define central moments of a frequency distribution. Obitain the relation between the cer
moments (i) of order r in terms of ﬂioments i‘r, about any point A. Hence, obtain
relations for p,, py and p,.

In a frequency distribution, the coé_fﬁcient of skewness based on quartiles is 0.5. If
sum of the upper and lower quartiles is 28 and the median is 11, find the value:

first and third quartiles.
. Section C -
Explain the principle of least squares. Describe the method of fitting an exponential ct

Yy .= aebx :

2l

to a set of n points (x, yp), i = 1, 2, ..., n.

U5y vyt e onmn
() Define Spearma}il’s rﬂilk?étrg;lat_ionCoe_fﬁq;f&:ﬂ:tf,__,é:ique.-.that 3

.Discus‘s_‘the case When th_e- ranks are ipréated.. 4 - S

!(a) Deﬁne regressm’n cOeﬁ' c1ents bYX and bXY Staie and prove any three propemes of
theregxts&oncoeﬁ'ments g ‘f e o e :‘:. 5oy
® Defmeyrﬁuniplg ¢one~faﬁiqn _c'b'efﬁ'ciém' R 5, . With tsual notations, show that : .

1-R?, e _(.1"_—_r122)(1:'_. r1232)

~Also deduce that : -

. (1 p)(l + 2p)
R1 23 . (1 Y p) s,
prov1ded all the coefﬁments of zero order are equal to p | e - : 5.- 7

(a) Dlscuss the assomatlon of attrrbutes A and B. Fmd whethcr A and B are mdtpendent y
posmvely assoclated or neganvely assoc:iated in each of the followmg cases .' 7: ’
(r) N = 1000 (A) = 470 (B) 620, and (AB) = -3-20' '

<, A . PTO.’



(lﬁ) (AB) = 256,(0LB)='}63(A[g§=f48,and(aﬁ)=144 _ o

(B) Define Yuie's coc¥icient of associatibh for the two attributes A and

* - the association betw

dat
. Fathers with dark eyes and sons with dark eyes -

ih

Fathiers with dark eyes‘and sonswith not dark eyes - ) 79

Fa‘lherswmh o dark eyes and sofis With darkeygs L T e Ly ﬂ ) 89

ngheis:wi_ih;'héi ,ﬁ?i‘k;‘é g, wi 4 732

. P (e
.2 B i
.
V ., = *
- =
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e “f ;
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